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Fly Ash Comparisons (FA)

Facility A
Coal: low sulfur bituminous

APC: NO+SNCR+FF

CFA AFA
(SNCR Off)| | (SNCR On)

Facility B
Coal: low sulfur bituminous

APC: NO+SCR+ESP(CS) [Mg lime]

DFA BFA
(SCROff) || (SCRON)

Facility K
Coal: sub- bituminous KFA

APC: NO+SCR+ESP(CS) [Mg lime] (SCROn)




Fly Ash Comparisons

Off On
14 + 14 +
12 + o 12 + >
10310?""% 10'510—;"'%
E ' g . 6
T 8*: 1 E T 8*: EE
3 i . o r R
6—; . 6—; A
41 ' 8 41 x
[ ] i
-1 05 O 0.5 1 15 2 -1 05 0 05 1 15 2 25
meq Acid/g dry meq Acid/g dry
OSR2-CFA - A ©SR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
14 14
12 i 8 7 12 ; 7N
10310?""% 10110 + = =|= = g0
i i 1R
I 81 1 § T 8 1 8
o L ] % o L ]
6—; . Q‘ 6—; . N
4 ! 4+ —ORg
r ! B r ! B
RS U WA 2 LB,
-1 05 O 0.5 1 1.5 2 -1 05 O 0.5 1 1.5 2
meq Acid/g dry meq Acid/g dry
OSR2-DFA - A © SR2-DFA - B OSR2-BFA - A © SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
14 +
12 + &
10 %
9.2 P om ===
T 81 B
[=% r d
6 T g
i I%ﬁ
4 L ] v
2+ 1 ' :
-1 -0.5 0 0.5 1
meq Acid/g dry
O SR2-KFA - A O SR2-KFA -B




Off On
10 + 10 ¢
MCL - MCL
1+ 1
E ofFD
5 o1l Ex YIS R PSR PR i
g Olz g 017 4n A
Z0044 ¢ = Ogl & : %?f
I [ T < O
0.01 +---- 0.01 4----frmafommmendananad- ...
— e o | [ = — el — b
A LA A '
0.001 0.001 +— } A
10.5
2 2 4 6 8 10 12 14
----ML ----ML pH
— MDL — MDL
OSR2-CFA- A ©SR2-CFA-B OSR2-AFA - A ©SR2-AFA - B
ASR2-CFA-C ASR2-AFA -C
10 ¢ 10 ¢
MCL - MCL
1+ 1
3 o1 : 3 o1 §j A
(o)) P O (o)) i R
3 E o 3 E o
= i Aoy e O = i o o
Poos Bf-p o iy g d || goorr by 307 mp
0.01 £~ eo]-nn- 2. Y v 0.01 tg---t---f---=--; i
e | | — — [ — b e o | o — T e b — b
r . r T
0.001 } i e 0.001 } ey }
10.3 10.1
2 4 6 8 10 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-DFA - A ©SR2-DFA - B OSR2-BFA - A ©SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
10 ¢
MCL
1 E
Fo
g' L
2 01 t O oo
= E m|
20023 t0 0 O0D0-0r o> o
0.01 --n--frmnfomennnd-- LT
e I U EA PRI A —
F 1
0.001 } ! }
9.2
2 4 6 8 10 12 14
----ML pH
— MDL
OSR2-KFA - A © SR2-KFA - B




Off On
1 1
000000 s 000000 T
100000 + 100000 +
10000 1 R o %0000 £ - - - BT s ag
1804 e = O afte == - (4] F %QA
~ 1000 £ - LN — 1000 & o .
> § 2lg 1 > F 1
2 100 + LAD - 2 100 +
— E KA A 1 _— E 1
< 10 + ' < 10 + '
O S AR [T O S RS, I
R e e R i e
E 1 E 1
0.1+ 1 1 S 0.1+ 1 1 P
103 105
2 4 6 8 100 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-CFA-A  ©SR2-CFA-B OSR2-AFA-A  ©SR2-AFA-B
ASR2-CFA-C ASR2-AFA - C
1000000 @ 1000000 =
100000 + a 100000 + %
10000 —+ °g ) 10000 —+ o
g ) 1245  F A
— | Ao — e ey gy oSl (o
%828.000 FT T T T T R3mneT o o 1000 ¢ ~ =K
- @A 1 o - 1
Z 100 ¢ ; = 100 = '
< 10 + ' < 10 + '
O S RS, [T .- e Do .-
R i e R i e
E 1 E 1
0.1+ 1 1 D 0.1+ 1 1 gy
10, 101
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - oML pH
— MDL — MDL
OSR2-DFA-A  ©SR2-DFA-B OSR2-BFA-A  ©SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
1000000 T
100000 1 <@ B
17159 S I P a st
10000 £ & L
% 1000 N .
Z 100 ¢ :
< 10+ '
e [ .-
Rl e e
E 1
0.1 1 1 Yl 1
2 4 6 8 10 12 14
- ML pH
— MDL
OSR2-KFA-A  ©SR2-KFA-B




Off On
1000 1000
F A
& 2 u] i AJY.I
100 £ ¢ 100 + AT oA
g @ F £ A
=207 ;""""'QA <130 s OQ
= 1 i =13. LI IR PP
SmeL 10 r 24 SmeL 10 —tr—
P R IR IR [ Q R IR (P [T
0 0
1 E 1 1 E 1
R A R N R A R
01 | | | L \I L | 01 | | | L \I L |
. T T lb.3 T . T T iO-S T
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-CFA - A ©SR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA-C
1000 + 1000
100 = 100 By
£l g
?ﬂ <}Z|A<AQs<>E| E AO
jay r OA jy r
=6.43 10 L # iy 35571 10 - 80 X
Snict 1 3 = SicL 10 & Ao
Q R IR IR [ IR Q R IR I TRNNY.Y P
0 )
1+ 1 J& 1+ 1 %
] S N A N R N
[ 1 [ 1
0.1 ; ; ey 0.1 ; ; T
10.3 10.1
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-DFA - A © SR2-DFA - B OSR2-BFA - A ©SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
1000
100 +
_30.1 F = = om0 =6 o=y
S 10l? e ' B
SwmcL T & :
Q R IR [ T
0
1+ 1
S e
[ 1
0.1 ; ; sy ;
9.2
2 4 6 8 10 12 14
- ML pH
— MDL
OSR2-KFA - A © SR2-KFA - B




Off On
10000 10000
1000 ¢ 1000 ¢ g
g L ™ I
—~ 100 & — 100 + f
= g @ aanE 398 £ === aaa 08 g Ry
3141 f = = o= om m om om = o= WAy = [ 1
=MCL 10 = s =MCL 10 =
(%)) E 1 [} E 1
< g < g
.................... R I S NP DR RN N
L i e R 1=~ 1"— 1=~ 7T ™
g ' g '
0.1 i i : — i 0.1 } } : — }
10.3 10.5
2 4 6 8 100 12 14 2 4 6 8 10~ 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-CFA-A  OSR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
10000 10000
1000 £ 1000 +
e apdhon Bﬂﬁj
[ RKEOA <& [ &
346.8100§--------P.{Eﬁ>% T 100 s H
2 f ; 200 £-= =g ---B Em
=MCL 10 = =MCL 10 =
(%)) E 1 [} E 1
< E < £
.................... R S NP DR NI N
L I e i M L e
g ' g )
0.1 } } : — } 0.1 } } — : }
10.3 10.1
2 4 6 8 100 12 14 2 4 6 8 100 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-DFA-A  OSR2-DFA-B OSR2-BFA - A ©SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
10000
r g
1000 + = &
F & oo
el
T68400 s oo =t T ey B
= g
3 I []
7MCL10 3 -
< £
............... SR SR N
1= =" 15077
g '
0.1 } } — }
9.2
2 4 6 8 710 12 14
----ML pH
— MDL
OSR2-KFA - A © SR2-KFA - B




Off On
10000 — 10000 —
Met 1000 : O Met 1000 ’
R S e e e o A
625 - R Srgenenn e 349 = =B - o g inthod B ad
— 100 + ! — 100 + !
= E ] S E ]
g2 . ' g . '
s 10 ; s 10 ;
m £ m £
.................... peneed R FRR AR B
ldm e ==t = —  — ldm e = =t = | — | —
§ ' § '
0.1 1 1 o 0.1 1 1 S p——
10.3 10.5
2 4 6 8 10 12 14 2 4 6 8 107 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-CFA - A ©SR2-CFA - B OSR2-AFA - A © SR2-AFA-B
ASR2-CFA-C ASR2-AFA-C
10000 & 10000 &
MCL - MCL i
1000 2y 1000 oy,
192 i F
100 T - -%D7§ 'G:IMTZs<'>E|ﬂ519m = 143 100 = = %'A = = =/ROAO Eﬂ
ERN ' ESN i
1 1
< 10 + 1 © 10 ¢ b
m £ m £
.................... poee-d RN FRR AR S
lfm e = =t = p —  — 1 o e = = e = b —
§ ' § !
0.1 t t : — t 0.1 t t — : t
10.3 10.1
2 4 6 8 100 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-DFA - A ©SR2-DFA - B OSR2-BFA - A ©SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
10000 &
Met 1000 ’
t &
E 51 B
374 = = st T el ?69
g 100% ]
g2 . '
s 10% .
m C
............... A IR I
lt_ -——e—_-—-—-r -
§ '
0.1 t t - t
9.2
2 4 6 8 10 12 14
----ML pH
— MDL

OSR2-KFA - A O SR2-KFA-B




Off On
100000 100000 |
?ng{oooo DA oo owEL0000 = m&\
1000£ == =71t ===- o O 1000 + A
E E <
— § 1 —320 F = = = = & = === <8 ag
— —
> 100 E 1 > 100 E 1
= F ' = F '
m 10 E m 10 E
E 1 E 1
T el e LI R T el e LI S
e e Al I A R i e Al b T
0.1 1 L e . 1 s L
10.3 01 10.5
2 4 6 8 100 12 14 2 4 6 8 107 12 14
—e oML p —-- oML p
— MDL — MDL
OSR2-CFA - A O SR2-CFA-B OSR2-AFA - A O SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
100000 | 100000 $
eatad] mnk KIAADA o FON &1 A ~
10000 + 72153[0000 L A
838t F---qF---- CHo PWE : '
1000 1 By 1000 '
— £ 1 — E 1
S 100 & ' S 100 ¢ '
= F ' = F b
m 10 E . m 10 E 1
Jf ARLEEELE. J ELELELERT SRR Jf ARLEEELE. J ELELELERT SRR :
i A A I R i A A I N
0.1 1 A 0.1 1 i
10.3 10,1
2 4 6 8 100 12 14 2 4 6 8 10 12 14
- ML p —-- oML p
— MDL — MDL
OSR2-DFA - A O SR2-DFA-B OSR2-BFA - A ¢ SR2-BFA -B
ASR2-DFA-C ASR2-BFA-C
100000
32484 éqm-hﬂ-ﬁ-ﬁxﬂm S
owEL0000 ; .
1000 + '
— £ ]
S 100 & .
= £ 1
m 10 E '
P AREEEEEE I EEELEE Pt -
—_— = = -7 - — F
0.1 t t - t
9.2
2 4 6 8 10 12 14
- oML pH
— MDL
O SR2-KFA - A © SR2-KFA - B




Off On
100 - 100 -
i W=T" 2N
L2 <« 3 0
10 + Q]Am 10 + &0
—_— C —_— C A
TMCL ¢ & TMCL ¢
2 i 2 i
=1 14b o.l:! ........ =1 S (R O0-W...... -
o 3 O0734 " £ = = = = = = === = A A%
== === 7 =0 — = - —- — 2T —
0.208 A QAR O L .
0.1 i i T e i 0.1 } } T i }
10.3 10.5
2 4 6 8 100 12 14 2 4 6 8 107 12 14
oML pH oML pH
— MDL — MDL
OSR2-CFA-A  OSR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
100 - 100 -
iﬁ L
G Q}DA Ral %
10 + al 10 + A
TMCL  f TMCL  f
e i %0 e i
30.795 1?;';';';';';'; QDDB.B;%'Q"" 5103 lg-- LR TR R -Q-Q-W-----
— = = = = — = —r = —
r 1 r 1
0.1 1 1 e 0.1 1 1 N
10.3 10.1
2 4 6 8 100 12 14 2 4 6 8 10 12 14
oML pH oML pH
— MDL =— MDL
OSR2-DFA-A  OSR2-DFA-B OSR2-BFA - A © SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
100 -
8 &g
10 E ¢ | 0O
TMCL ¢
\g L
TR R O bbbe B
E 1
e — o — —_ = m— e —
r 1
0.1 1 1 i 1
9.2
2 4 6 8 10 12 14
- oML pH
— MDL
O SR2-KFA - A © SR2-KFA - B




Off On
10000 + 10000 +
; 1105 ¥ g Jx@nc
1000 + sy 1000 = = B = 5= x50 \ -y A
187 ; RGO Qe g '
I < A LI O i
—MCIL00 b o —MC1100 + :
> F pul = N
= 10t ! = 10t .
O E ' O ; ]
r 1 r 1
I  BEEEEEE EEREE RS PR T EEEEEEE PP RS B - -
e = e = — —_— e — e = e = — —_— e — e —
F 1 F 1
0.1 i i : — i 0.1 } } : — }
10.3 10.5
2 4 6 8 10 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-CFA-A  OSR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
10000 10000 +
| = J«m
Nl L
1000?5 g51 1000;-%:‘.&--- o o
132 E . g
jMCLIOO E A Lod p j‘MCLlOO E :
el i o O el i
2 104 °Ce oA : 2 104 ;
O E ' O ; 1
r 1 r ]
1gemmrmns R R EEEEE FRPPPE - (T AR PP P - -
| P p— — ( — e — | Fpe— — e — e —
F 1 F ]
0.1 } } : — } 0.1 } } — : }
10.3 10.1
2 4 6 8 10 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-DFA-A  OSR2-DFA-B OSR2-BFA - A © SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
10000 ¢
1000 L &
Q‘MCLIOO : <7}
2215 T BRIy R > -2 B
= 10+ =7
o 2
F & .
14t------ L0 B = S PR EEEr
I Fg— b | — e —
F 1
0.1 } } = }
9.2
2 4 6 8 10 12 14
----ML pH
— MDL
OSR2-KFA - A © SR2-KFA - B




Off On
1000 1000 -
g FA8 .
L @ % L
100 - Saey 100 =
§ § A
2 10l ® 2., 104 %
2 g7.72 ’§---------<>8lmaég
3 P AR« BN 3 N N B ol
l *E ﬁ l *E 1
0.255 LI IR R O i :
0.1 ; ; Py 0.1 | | gy
103 105
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-CFA-A O SR2-CFA-B OSR2-AFA-A  ©SR2-AFA-B
ASR2-CFA-C ASR2-AFA - C
1000 - 1000 -
100 + 100 Emu o
Kl SoOA g 4
2 104 @ 2 104 A
2 © 0 Zs51 é--------A?@
: A g
Y TN A O R ST 1 @% .
1 = o0 1 b3 ] <o
0.255 A T = - Y- i :
0.1 | | Py 0.1 | | R
103 101
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-DFA-A  ©SR2-DFA-B OSR2-BFA-A O SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
1000 -
100 +g
F S| o
':‘ .
> 10—
= E
3 R R P
1
0.255 I R o B
0.1 | oy |
9.2
2 4 6 8 10 12 14
- =ML pH
— MDL
OSR2-KFA-A  OSR2-KFA-B




Off On
1000 + 1000 +
100 +—5 100 +4&
— e — i
— — 4}
gMCL 1 1 gMCL 15 1
= F = F
z ) . <« N z ) . &
S N I o T [ QN G LA
S F S S [ o 1 S g ﬁﬁ%@é’é_-m_ -
0140 ¢ F.m2 27 Q&AM LT = 2804 0.1 1 S S
10.3 10.5
2 4 6 8 10 12 14 2 4 6 8 107 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-CFA-A  ©SR2-CFA-B OSR2-AFA-A O SR2-AFA-B
ASR2-CFA-C ASR2-AFA-C
1000 + 1000 +
100 100 5
s - a
oy : o S
SMCL 10 T SMC 10 &
= E o = N
L . i 8 L . i
ETTTTt f-----="9-===="=====49---+ B =2 e e
oA _%%p ._°o _ S I - | R
0140 4 F.= &, ‘T-p:m-z‘w aBOm A 0140 1 r.= rChAQ = = rAOAQ. K3, [0,
10.3 10.1
2 4 6 8 10 12 14 2 4 6 8 10 12 14
-- oML pH -- oML pH
— MDL — MDL
OSR2-DFA-A  ©SR2-DFA-B OSR2-BFA-A  ©SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
1000 +
100 +
=mMCL o
g 08
a C
2 i
1g----- = i SR N PP
s — | — f =0 — —
0140 4 £.= =.©0= 0.0 =k 0@A, 0|
9.2
2 4 6 8 10 12 14
----ML pH
— MDL
OSR2-KFA-A  ©SR2-KFA-B




Off On
10000 + 10000 B
i ” Jpn i @
1000 + qao e 1000 + a3
521 == = = {ItA= == = a0 587 I IR B ad
DWEL - DWEL - £
— 100 + e ! — 100 -2y !
= E & 1 = E 1
(o)) E (@) =
= r 1 = r 1
E 10 - : E 10 - :
Foeeeaas R A r----1 R O A -
L [ . I ) e
L F 1
0.1 t : — t 0.1 t t : — t
10.3 10.5
2 4 6 8 100 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-CFA-A  OSR2-CFA-B OSR2-AFA - A © SR2-AFA - B
ASR2-CFA-C ASR2-AFA - C
10000 ¢ 10000 ¢
1956 i------mql 1822 i_______Jg;A
1000 T AT RotBE B 1000 T © B mm
£ 1 £ ]
DWEL o a =5 - DWEL o B -
T E ) EFO a:‘ FAN
5 & B ' 5 : '
= r 1 = r ]
° 10 + \ S 10 + ;
= g = g
.................... ponnnd SN FRRIII SR NN
1t e m|e m =y = — e e
F 1 F ]
0.1 1 1 o 0.1 1 1 ey
10.3 10.1
2 4 6 8 10 12 14 2 4 6 8 10 12 14
----ML pH ----ML pH
— MDL — MDL
OSR2-DFA-A  OSR2-DFA-B OSR2-BFA - A © SR2-BFA - B
ASR2-DFA-C ASR2-BFA-C
10000 ¢
2207 i-----n-Jﬂ-szmm
1000 + o| O !
£ 1
DWEL -
— 100 O s '
= = 1
g 0 ¢ :
E 10 - \
R (R [ R (R
1 7;_ e - - = I =
F 1
0.1 t t . t
9.2
2 4 6 8 10 12 14
----ML pH
— MDL

OSR2-KFA - A O SR2-KFA-B




Off On
1000 + 1000 +
£ ] é_% £
B0 Yk ki o Amﬁg@
100 + 100 +—p——— On
MCL - MCL - <t
236 £ == == ===== @000 5257 f =m0l N
> 10+ 0 > 10+ '
= £ 1 = E 1
% T [ R % e | IR
Y [ A R A— O [ ! [ A—
g ' g '
[ 1 [ 1
0.1 : : | 0.1 : : e
10.3 10.5
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL =— MDL
OSR2-CFA-A O SR2-CFA-B OSR2-AFA - A O SR2-AFA-B
ASR2-CFA-C A SR2-AFA - C
1000 + 1000 +
100 40 100 -y
MCL :Zkl:l_ 2ol MCL 3 A
y 4 &)DA O - r o S I, &AS O
< o J153 ,  F = = = = ma]a -
gm7m?----------9%ﬁ> E 10g . B
% T [ R . % e [T .
S [ A T A— e [ A T S
g ' g '
01 | | | L \I\ L | 01 | | | L \I\ |
. T T 1b.3 T . T T 1d.1 T
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
—  MDL —  MDL
OSR2-DFA - A O SR2-DFA -B OSR2-BFA - A O SR2-BFA-B
ASR2-DFA-C A SR2-BFA-C
1000 +
123 i B
100;""""?‘&?:I
MCL s T
-y 19 ael D '
3 10+ %o !
= E 1
% e R R
S T A T A
g '
[ 1
0.1 : : by :
9.2
2 4 6 8 10 12 14
- ML pH
—  MDL
OSR2-KFA - A O SR2-KFA - B




Off On
1000 ¢ 1000 ¢
100 + & ox 100 +2 5
E glAlgm E (£
— [ - - 3 A(EIﬁ
\24 81 0% &Eﬂ RN Ed 10t &
=4 i el Al O =2.88 .o d. &2
= MCL sl £ MCL 2N ng
3 S [N AR BN R 3 S [N A DU R
£ 1 E 1
[ ] [ ]
0.1 t t - t 0.1 t t — t
10.3 10.5
2 4 6 8 107 12 14 2 4 6 8 107 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-CFA - A ©SR2-CFA - B O SR2-AFA - A © SR2-AFA-B
ASR2-CFA-C ASR2-AFA-C
1000 ¢ 1000 ¢
<A Dy
| BoOA - ®a
100 - <A 100 -
—_ i ad — i
- -
S 10+ S 10+ &
= g Ao = g A A
— r \on — F
— MCL yAY FMCL o — —rr ; 53
0.773 1?_-.--_-.-; A L 141 1?_-_-_ .i_._
F og'o @ . !
1 1
0.1 T T 1\0.3 L 0.1 T T 10\.1 T
2 4 6 8 10 12 14 2 4 6 8 10 12 14
- ML pH - ML pH
— MDL — MDL
OSR2-DFA - A ©SR2-DFA - B OSR2-BFA - A ©SR2-BFA-B
ASR2-DFA-C ASR2-BFA-C
1000 +
- S
L ¢ | O
100 O o
38.0 é-------z'-@@'ﬁ
— F
> 10 = !
2 g '
= MCL - 2
S A I A
F 1
[ 1
0.1 t t ——— t
9.2
2 4 6 8 10 12 14
- =ML pH
— MDL
OSR2-KFA - A ©SR2-KFA-B




Gypsum (Gyp-U, Gyp-W) Comparisons

Facility N

Coal: bituminous
APC: FO+SCR+ESP(CS)

Facility O

Coal: bituminous
APC: FO+SCR+ESP(CS)

Facility P

Coal: bituminous
APC: FO+ SCR & SNCR +ESP(CS)

Facility Q

Coal: sub-bituminous
APC: FO+SCR+ESP(CS)

Gyp-U | Gyp-W
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(unwashed)|i| (washed)
OAU [| OAW
(unwashed)i (washed)
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Scrubber Sludge (ScS) Comparisons

Facility A

Coal: low sulfur bituminous CGD AGD
APC: NO+SNCR+FF (SNCR Off)[ [(SNCR On)
Facility B

Coal: low sulfur bituminous DGD BGD
APC: NO+SCR+ESP(CS) [Mg lime] (SCROff) || (SCRON)

Facility K
Coal: sub- bituminous KGD

APC: NO+SCR+ESP(CS) [Mg lime] (SCROn)
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Fixated Scrubber Sludge (FSS, FSSL) Comparisons

FSS: Fly Ash + Scrubber Sludge (FA+ScS)

Facility A (ESS)
Coal: low sulfur bituminous
APC: NO+SNCR+FF
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FSSL: Fly Ash + Scrubber Sludge + Lime (FA+ScS+lime)

Facility B (FSSL)
Coal: low sulfur bituminous
APC: NO+SCR+ESP(CS) [Mg lime]

Facility K (ESSL)
Coal: sub-bituminous
APC: NO+SCR+ESP(CS) [Mg lime]
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APC: IO+SCR+ESP(CS)
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SR002.1 Outliers resulting from inconsistency in pH determination.

Test Conc. [ug/L
Material Position Replicate pH Hg Al Sh As Ba B Cd Co Mo
S.1. po/L pg/l pg/l pg/l pg/l o pg/l pg/ll pg/l g/l po/L upg/l g/l

AFA TO8 A 8.40 0.245 7570 314 57.9 312 557 0.608 1310 8.4 0 877 83 333
BFA TO8 C 836 0.01 1210 6.17 293 142 7532 1.190 873 7.0 0 1874 14 1.94
KFA TO5 B 5.05 0.02 721 349 114 226 37652 1.478 6 1.8 0 2071 409 879
AGD TO1 C 1.35 0.01 52800 61.3 243 80.0 7185 2.0 900 106 64 117 119 8.65
AGD TO2 C 1.65 0.01 43800 20.6 129 937 7859 2.0 882 90.3 35 619 68 7.96
AGD TO3 C 1.85 0.03 39700 16.1 133 83.8 8154 193 869 85.0 8 7.9 37 6.56
AGD TO4 C 2.03 0.03 34800 955 9.26 704 7103 1.77 848 79.0 3 0.4 20 7.38
AGD TO5 C 232 0.01 24700 501 7.16 69.7 7266 1.750 732 819 0 0.4 25 745
AGD TO6 C 258 0.01 22000 4.15 6.11 61.8 7647 1.700 787 77.0 0 4.1 21  6.50
AGD TO7 C 3.76 0.02 9580 365 6.12 37.2 6632 1.660 719 63.2 0 216 20 7.15
BGD TO9 B 7.61 0.025 2440 279 554 162 583 0.200 220 0.26 0 614 3 415
NAU TO6 B 4.12 0.002 341 0971 055 659 2164 0.200 6 1.4 0 145 170 4.36
BCC TO3 C 271 149 3780 6.02 69.1 188 8435 7.360 703 168.0 1 77 61 9.91
BCC TO4 C 3.74 174 808 473 284 838 7121 9.410 712  83.8 1 103 47  7.07
MAD T11 C 3.63 8.23 74546 75.6 4317 2725 26299 4.81 26 190 8 697 873 182

SR002.1 Outliers resulting from inconsistency in concentration measurements.

Material Replicate Element pH [S.l. Conc. [ug/L]
CFA A Cd 332 729
CFA A Co 9.00 6.73
CFA A Co 7.92 0.730
AFA B Cd 11.6 4.22
CGD B Sb 523 111
CGD B Mo 5.23 9.42
CGD C Cd 8.98 1.17
DGD C Cr 9.03 243
NAW A As 7.25 10.2
NAW B Pb 5.39 9.32
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